EAGRAROBREERT — 2 N— ABISH —F

20201 1A (k) 12@11iE1 B

SR o R—M C3t/\A

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[AE£] 1 7% :900,000  ~ 23&:342,000 337 :225,000 43 :135000 F 5 & :108,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
-« - o= . BEHEREER 132, ~3-3- . - SAE— (IE)
11111 7/_/777,7 K 6 80 1(3_2)9 5-3-3-2 40.3 1 (4_522) Z*E]#E)\
R:xg—)rIO-x B rT7H¥N—b TS FHE
s g . LI ER :32. -1-1- . — sARE A (111E)
2| 8|12 YTFNN=PEA Y AL - A |
LHIRT TR B FNTHeST RIS
o o fto4 | BEARE 1:33.2 7-6-7-8 | 40.1| — 4 476 | LiBEE (1E)
3 LyYd—L—F13 54.0 (1 1/2) = B5T
RN=YIF1 B:ibLJ TR Ete
¢ o6 | FERTEE 1:33.2 4-5-5-4 | 40.3| — 10 | 437 |EBH— (k)
4 INF v <IL 56.0 (7 E) o) |#) TyFxTNx
L7 RIAVT v BNLIT—T Gl e
. - FERHEE] .33, 90— . — HIAEE (A8
5 /]_,r{j./zk,r: 4 6 540 1(313)4 2-2-2-3 40.9 5 422)7 I:FEE% ]
gL FT ML BV RF—FTI— BRSH FL Ty UNL—
— € 4 | EREA 1:33.4 6-6-6-5 | 40.4| — 2 488 | Wilstats (J11iE)
6 T_<— bk A - 56.0 (74%) (op) | BB
R:2=—/FXLLy b B:F1-TF7—ANILX H—L— -+ JvIN> s T7—LERS
5 it 5 | mEY 1:33.5 8-8-8-5 |40.0| — 6 450 | MRBEZ (JI1I)
7179 I77z41 54.0 (1/2) 3 | B FuR=T—uF
N—RRIN> BIITRIET HET7— L
= 4 6 | EHAE 1:33.9 10-10-9-9 | 39.8 | — 8 425 | BAMEST (1)
8| 7(10| 7NVT 1 LK=% 54.0 @) o | EEEE
Rk IAfO— B:ihI/I5A EH T
= Bo7 | HERE 1:34.4 11-11-10-10| 40.1 | — 9 504 | EEIENE (f04E)
9|5|6|N—FT17 54.0 2 1/2) () | IBEE= "
L:€rsa7oq4 BIIVF—XT747 RN
S o7 | PHERRE 1:35.2 9-9-11-11 | 41.0 | — 1 433 | ETHEE (fafR)
EH %) TAILFx>T 56.0 @) +3) :F#fzzl—.
R:Za—A>95> K BILILIA—> IRT RE
. = 4 4 | KHEZ 1:35.3 3-3-3-7 | 42.7| — 7 435 | SHEF (1)
1l5l5| 1/ 54.0 (3/4) (-a) | MBEX
gL FSw ML BHTITYIN—T ZRANT 7 — L
= 4 5 | BEEBA 1:35.6 11-12-12-12| 40.7 | — 12 | 415 |RibRE (&)
1218111 7 ) 54.0 (1 1/2) 17) |10 ®5B5RBMEE
R:jyp—3IY)F7> B:ax/NaTx Bk =i
® I —F—@EBIERL
13=7r= 12,7,5,8,1,4,2,9,3,10, (6,11)
23—+ — 12,7,(1,5),8,(2,4),9,3,10,6,11
Gal=7r= 12,7,(1,5),8,4,2,9,10,6,3,11
A==k — 12,1,7,8,(4,9),5,2,10,6,3,11
[ RN
B OB 1 1904 714K 1-12 250M e & 1-8 270M 3ER 1-2-12 1,680M
7 B 1 1104 1-2 330 | | B B 1-8 870M | | 3=H 1-12-2 4,870M
12 150/ 2-12 870M B E 1-12 520
2 200M B H 1-12 860M

ARICOVWTRDTEEERROODE. TR LI,




